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fe] What i meant by Kurtasis’
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fd] Whut does ¢ =0 signlly?
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Distinguish  between pesitive and
negative cottelation. Find the rank
correlation between X and ¥ from the
i'u]_lnmng table :

FES T WIS TOTIR S |
fr e W X 9% ya ol Ao
Sher:

X : 15 19 I3 10 17 22 & 13 12
¥ : 21 20 23 B 1925 11 16 15

Analyze the resnit.
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State and prove Baye's thedrem QI'
probability. Asnurn contains 10 white, &
‘black and 3 red balls, 2 balls are drawn
in successiori. What is the probabihity
thal they are drawn ifi the arder of
black, red and white if the balls are oot
replaces) after ench draw?
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Ehtajfn: fhe cansants of w Rinernial
Slriblition, In #n intéiligenece Lot uf

1000 childreng the average :
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f Find the number of children
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@ Find the aumber of chitdren lying
between scores 30 and 54.
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the top 100 children,
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